
/DWRB����

3RPLHV]F]HQLH�5R]NãDG���=%�������7\J������

�������������7\J��������
��

3UDZR�PLĊG]\QDURGRZH
SXEOLF]QH��ZDU��GU
.DQLHZVND�'RURWD� =%�
����� ���35$�'����
:$5�

�������������7\J�����

.XUV\��V]NROHQLD�+RUEDF]�(G\WD� =%�����

.XUV�MĊ]\ND�SROVNLHJR�GOD�REFRNUDMRZFyZ3
Q

������
������
7\G]���

5DFKXQNR
ZRĞü��Z��
8UEDĔVND
.DPLOD� =%
������ ���
(.2�/���

�������������7\J���������
�������������

5DFKXQNRZRĞü��Z��8UED
ĔVND�.DPLOD� =%������ ��
�(.2�/���

�������������7\J���������
�����������������

)LQDQVH�SXEOLF]QH��Z��GU
=DVĊSD�3LRWU� =%������ �
��(.2�/���

=DMĊFLD�Z����W\JRGQLX���
PLQXW

�������������7\J��������
��

)LQDQVH�SXEOLF]QH��FZ��G
U�=DVĊSD�3LRWU� =%������
���(.2�/���

�������������7\J��������
��

5DFKXQNRZRĞü��üZ��GU
.XU]DN�0DEURXN�$QQD�=
%������ ���(.2�/���

�������������7\J��������
��

3URFHGXU\�NRQWUROQH�L
SRVWĊSRZDQLH
SRGDWNRZH� PJU�*ĊEND
.DUROLQD� '(����
.20387(52:$��7\J
������=%�������7\J����
�����=%�������7\G]�����=%�
������7\J�������� ���5,3�
���/�:$5������5,3�/����
:

�������������7\J���������
����������������

3':�,,� SURI��:yMFLN
:LHVáDZ� =%������ ���
(.2�/���

]DMĊFLD�Z����W\JRGQLX���
PLQXW

�������������7\J��������
��

3URFHGXU\�NRQWUROQH�L
SRVWĊSRZDQLH
SRGDWNRZH� PJU�*ĊEND
.DUROLQD� =%������ ���
5,3����/�:$5������5,3�
/����:

Z
WR

UH
N

������
�������7\J
���������

6HPLQDULX
P� SURI�
]Z��GU�KDE
*OXPLĔVND�
3DZOLF
-DGZLJD� =
%������ ���
5,3�/����
:<.

�������������7\J��������
��

=DU]ąG]DQLH�VREą�Z
F]DVLH� GU�%LWQHU�(ZD� =%
������ ���5,3�/����:<.

�������������7\J���������
�������������

2SáDW\�SXEOLF]QRSUDZQH�
6]HFyZND�3DZHá� =%�
����� ���5,3�/����:<.

Z����W\JRGQLX�]DMHFLD
�����������

�������������7\J���������
�������������

(ZLGHQFMD�L�UR]OLF]DQLH
IXQGXV[]\
XQLMQ\FK�3R]\VNLZDQLH
IXQGXV]\� :ROQD�%HDWD� =
%������ ���5,3�/����
:<.

:����W\JRGQLX�]DMĊFLD
�����������

�������������7\J��������
��

(ZLGHQFMD�L�UR]OLF]DQLH
IXQGXV]\
XQLMQ\FK�3R]\VNLZDQLH
IXQG��üZ�� :ROQD�%HDWD�
=%������ ���5,3�/����
:<.

������
�������7\J
���������

6HPLQDULX
P� SURI�
]Z��GU�KDE
*OXPLĔVND�
3DZOLF
-DGZLJD� =
%������ ���
5,3�/����
:<.

�������������7\J��������
��

6HPLQDULXP� GU�8FLHNODN�
-HĪ�3DXOLQD� =%������ ���
5,3�/����:<.

ĤU
RG

D

�������������7\J���������
����������������

0DWHPDW\ND��Z�� GU
.\U\O\FK�7DPDUD�=%�
����� ���(.2�/���

:����W\JRGQLX�]DMHFLD���
PLQXW������������

�������������7\J��������
��

0DWHPDW\ND��üZ�� GU
.\U\O\FK�7DPDUD�=%�
����� ���(.2�/���

�������������7\J��������
��

1DXND�R
SU]HGVLĊELRUVWZLH�GU
.\U\O\FK�7DPDUD�=%�
����� ���(.2�/���

�������������7\J�����

3URMHNW��� =%�����

F]
Z

DU
WH

N

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



/DWRB����

3RPLHV]F]HQLH�5R]NãDG���=%�������7\J������

�������������7\J���������
�����������������

1DXND�R
SU]HGVLĊELRUVWZLH�GU
.\U\O\FK�7DPDUD�=%�
����� ���(.2�/���

:����W\JRGQLX����PLQXW
�����������

F]
Z

DU
WH

N

������
�������7\J
���������

6RFMRORJLD
�Z�� GU
5RG]LN
-DURVáDZ� =
%������ ���
(.2�/���

������
�������7\J
���������

6RFMRORJLD
�üZ�� GU
5RG]LN
-DURVáDZ� =
%������ ���
(.2�/���

������
������
7\G]���

6HPLQDULX
P� SURI�
]Z��GU�KDE
*OXPLĔVND�
3DZOLF
-DGZLJD� =
%������ ���
5,3�/����
:<.

�������������7\G]���

=DU]ąG]DQLH�VREą�Z
F]DVLH� GU�%LWQHU�(ZD� =%
������ ���5,3�/����:<.

�������������7\G]���

6HPLQDULXP�PDJLVWHUVNLH� GU�KDE��1LHGĨZLHFNL
5\V]DUG� =%������ ���%1�0����:

�������������7\G]���

(ZLGHQFMD�L�UR]OLF]DQLH
IXQGXV[]\
XQLMQ\FK�3R]\VNLZDQLH
IXQGXV]\� :ROQD�%HDWD� =
%������ ���5,3�/����
:<.

:����W\JRGQLX�]DMĊFLD
�����������

�������������7\G]���

2SáDW\�SXEOLF]QRSUDZQH�
6]HFyZND�3DZHá� =%�
����� ���5,3�/����:<.

Z����W\JRGQLX�]DMHFLD
�����������

�������������7\J��������
��

3UDZR�PLĊG]\QDURGRZH
SXEOLF]QH��Z��GU
.DQLHZVND�'RURWD� =%�
����� ���35$�:����:

�������������7\G]���

(ZLGHQFMD�L�UR]OLF]DQLH
IXQGXV]\
XQLMQ\FK�3R]\VNLZDQLH
IXQG��üZ�� :ROQD�%HDWD�
=%������ ���5,3�/����
:<.

�������������7\G]���

6HPLQDULXP�PDJLVWHUVNLH� GU�KDE��1LHGĨZLHFNL
5\V]DUG� =%������ ���%1�6����:

�������������7\J��������
��

3UDZR�PLĊG]\QDURGRZH
SXEOLF]QH��Z��GU
.DQLHZVND�'RURWD� =%�
����� ���35$�:����:

SL
ĈW

HN

�������������7\J������
����������

6HPLQDULXP� GU�6á\V]
$OHNVDQGHU� =%������ ���
5,3�5����:

�������������7\G]���

(ZLGHQFMD�L�UR]OLF]DQLH
IXQGXV]\
XQLMQ\FK�3R]\VNLZDQLH
IXQG��üZ���3R]\VNLZDQLH
IXQGXV]\�XQLMQ\FK�GOD
063� :ROQD�%HDWD� =%�
����� ���5,3�5����:

�������������7\J����

6HPLQDULXP� GU�%DUWQLN
0RQLND� =%������ ���
$'0�6����6(0

�������������7\J������
����������

6HPLQDULXP� GU�6á\V]
$OHNVDQGHU� =%������ ���
5,3�5����:

�������������7\G]���

(ZLGHQFMD�L�UR]OLF]DQLH
IXQGXV]\
XQLMQ\FK�3R]\VNLZDQLH
IXQG��üZ�� :ROQD�%HDWD�
=%������ ���5,3�5����:

�������������7\G]���

(ZLGHQFMD�L�UR]OLF]DQLH
IXQGXV]\
XQLMQ\FK�3R]\VNLZDQLH
IXQG��üZ�� :ROQD�%HDWD�
=%������ ���5,3�5����:

�������������7\J���������
��

6RFMRORJLD��Z�� GU�5RG]LN
-DURVáDZ� =%������ ���
5,3�5����:

�������������7\G]��

3RVWĊSRZDQLH�NDUQH��Z��
GU�%DUWQLN�0RQLND� =%�
����� ���35$�:����:

�������������7\J���������
��

6RFMRORJLD��üZ�� GU
5RG]LN�-DURVáDZ� =%�
����� ���5,3�5����:

W\G]LHĔ����]DMHFLD�������
�����

�������������7\J�������

:\NáDG�GR�Z\ERUX����]
��� GU�%LWQHU�(ZD� =%�
����� ���5,3�5����:

�������������7\G]��

3RVWĊSRZDQLH�NDUQH��Z��
GU�%DUWQLN�0RQLND� =%�
����� ���35$�:����:

�������������7\J������
������

:\NáDG�GR�Z\ERUX����]
��� GU�%LWQHU�(ZD� =%�
����� ���5,3�5����:

�������������7\G]���

)LQDQVH�SXEOLF]QH�L�SUDZR
ILQDQVRZH��FZ�� 6]HFyZN
D�3DZHá� =%������ ���
$'0�5����&�

�������������7\J�����

:\NáDG�GR�Z\ERUX����]
��� GU�%LWQHU�(ZD� =%�
����� ���5,3�5����:

=DMĊFLD�Z���W\JRGQLX
�����������

�������������7\G]��

6HPLQDULXP�PDJLVWHUVNLH� GU�KDE��1LHGĨZLHFNL
5\V]DUG� =%������ ���%1�6����:VR

ER
WD

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



/DWRB����

3RPLHV]F]HQLH�5R]NãDG���=%�������7\J������

������
������
7\G]���

)LQDQVH
SXEOLF]QH�L
SUDZR
ILQDQVRZH
�FZ�� 6]HF
yZND
3DZHá� =%�
����� ���
$'0�5���
&�

VR
ER

WD

�������������7\J�����

6WXGLD�SRG\SORPRZH�+RUEDF]�(G\WD� =%�������=%�������=%�����

VWXGLD�SRG\SORPRZH�8&.8

1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


